
Name: LösungsschlüsselVisuelles Addieren und Subtrahieren von Brüchen (verschiedene Nenner)
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1-10 90 80 70 60 50 40 30 20 10 0

Antworten

1.
5⁄21

2. 1
2⁄20

3.
3⁄9

4.
26⁄30

5.
15⁄42

6.
10⁄12

7.
4⁄12

8.
29⁄45

9.
13⁄90

10.
7⁄10

Löse jede Aufgabe.

1) 4⁄7 - 1⁄3 = 12⁄21 - 7⁄21 = 5⁄21

-

2) 6⁄10 + 2⁄4 = 12⁄20 + 10⁄20 = 1
2⁄20

+

3) 2⁄3 - 3⁄9 = 6⁄9 - 3⁄9 = 3⁄9

-

4) 4⁄6 + 2⁄10 = 20⁄30 + 6⁄30 = 26⁄30

+

5) 3⁄6 - 1⁄7 = 21⁄42 - 6⁄42 = 15⁄42

-

6) 2⁄4 + 1⁄3 = 6⁄12 + 4⁄12 = 10⁄12

+

7) 5⁄6 - 2⁄4 = 10⁄12 - 6⁄12 = 4⁄12

-

8) 4⁄9 + 1⁄5 = 20⁄45 + 9⁄45 = 29⁄45

+

9) 4⁄9 - 3⁄10 = 40⁄90 - 27⁄90 = 13⁄90

-

10) 1⁄2 + 1⁄5 = 5⁄10 + 2⁄10 = 7⁄10

+



Name: LösungsschlüsselVisuelles Addieren und Subtrahieren von Brüchen (verschiedene Nenner)

Mathe www.CommonCoreSheets.de

Antworten

1.
5⁄21

2. 1
2⁄20

3.
3⁄9

4.
26⁄30

5.
15⁄42

6.
10⁄12

7.
4⁄12

8.
29⁄45

9.
13⁄90

10.
7⁄10

Löse jede Aufgabe.

1) 4⁄7 - 1⁄3 = 12⁄21 - 7⁄21 = 5⁄21

-

2) 6⁄10 + 2⁄4 = 12⁄20 + 10⁄20 = 1
2⁄20

+

3) 2⁄3 - 3⁄9 = 6⁄9 - 3⁄9 = 3⁄9

-

4) 4⁄6 + 2⁄10 = 20⁄30 + 6⁄30 = 26⁄30

+

5) 3⁄6 - 1⁄7 = 21⁄42 - 6⁄42 = 15⁄42

-

6) 2⁄4 + 1⁄3 = 6⁄12 + 4⁄12 = 10⁄12

+

7) 5⁄6 - 2⁄4 = 10⁄12 - 6⁄12 = 4⁄12

-

8) 4⁄9 + 1⁄5 = 20⁄45 + 9⁄45 = 29⁄45

+

9) 4⁄9 - 3⁄10 = 40⁄90 - 27⁄90 = 13⁄90

-

10) 1⁄2 + 1⁄5 = 5⁄10 + 2⁄10 = 7⁄10

+

1-10 90 80 70 60 50 40 30 20 10 0


	Worksheet
	Lösungsschlüssel

